/
/

/58.

; polymer ?

S o

Dacron
(2)

Which one is classified as a condensation

Neoprene

(3) Teflon

(4)

Acrylonitrile

ﬁ/ Which one of the following bases is not
: present in DNA ?

P(’I(Quinoline

(2)

Adenine

(3)

Cytosine

(4) Thymine
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60. In the reaction,

CELCOOHRTARG . Uls [prallo KO o

— -~ 5

the product C is : CPELW
Che L,

(1) Acetaldehyde C)HL

(2)

% Ethylene

(4)  Acetyl chloride

Acetylene

58. T ¥ foFUE! FEUYN SgAE W1 ST 2

59. =1 & o 9 %9 U DNA H & 9171 S ?

(1)
(2)

(4)

ARIYA BHOPAL PHONE (0755) 32 00 000
60. IffRan 4,

LiAIH, PCl5 Alc. KOH

A B C

CH;COOH
H o wa CRa ©
tfaetfeege
ufafect
ERIEEE
NECECIERIRES

(1)
()
®)
(4)
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PART C — MATHEMATICS

p1. If X={4"-3n-1 : n e N} and
F/y\uﬁ_ Y={9(n—1) : n e N}, where N is the set of
natural numbers, then XUY is equal to :
X509 g |
955 x  4-2-V=p
KUY B Y Mo-e ey ©
7% 3) N CM'?-—{ = 8Yy
)(Cy i

- /\Mf z is a complex number such that |z|>2,

i3S

<

VAR

then the minimum value of

S HE) ’

is strictly greater than

>

‘3—bt1
5 but less

()
i . 5
@1 is equal to =

2
(4)

124 G v?/

63.

is strictly greater than

5
than —

@4’\,4; : 2

lies in the interval 1 2 \@ 5 P |
)

WEKOCLASSES COM MATHS BY SUHAG
If a € R and the equation

f3(x—[x])2+2 (x—[x])+a%2=0

(where [x] denotes the greatest integer

<

x) has no 1ntegral solution, then all

€

p0531ble values of a 11e in the interval :

M (=2 -1 ~3>€1)1;2,{,L}+q2

2 (%, -JuR®) 77

¢ (~L9uE @&%

—

<=

61.

62.

3{’@5 - —- 0 @ @2

o e~

9T ¢ — T S aldhg
afEX{4n3n1:neNaen"l?

={9(n—1) : n e N} ¥, W& N, WHa Hemsi Qg
wagaa% qAXUY T T

@)X 3 At szff‘f\
@ Y e
o A5
@)

15% jg - ]

Ife 7 T U wimg gen ® fF |7)=28 @
" e W'Fifﬁ'qﬂﬁwbq = KK\i K\K‘
‘< Lyg = Kxy
2 3 e 791 81
NS 2
) Eﬁﬁwa@%m > ww (H‘{
) ~4fa) »%U) -1 - |
1) D P~y ot
£ ,yu,)
3) —%W%l 3 \ b )ﬁ%

(4) sfaa (1,2) ¥ feoa 71

f" peql

KARIYA BHOPAL PHONE (0755) 32 ocwdd 5t <k
63. A aeRTA % w9
“’~—-3(x—[x])2+2(x—[x])+a/2=0
(57T [x] 39 o2 | o2 quiF 1 <ofar & s
< x ¥) &1 QUIRIT 5 T 8, Ma & At
e W o s § R € ww R
SR ‘
2 (==, -2)u (2 =)
@) (-1,0)u (0, 1)

| (WT@

412
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64. Let o and B be the roots of equatlon 64. WM o @A B THIEHIW px? +qx +1=0, p20 %
px2+qx+1=0, p#0. If p, g, r are in A.P. q@ ¥ A p, g r R G A R
and L + L = 4, then the value of |a— ] l.;l=4:%,iﬁ|a—[3|mm%: Y +!
T =y ; \
is: i S -+ § 1+ 13
LS ﬁ -y i
0 _\/;EC%_, ” 5 _ng +§ Y
=L \4g "\'9 Al
@/ BB R -y @ 2B .
% Tt
@ ML YTy gy @ Y& > a3
N\ 9 ~ 9 |-
‘Z-? ‘ Nivi j/w gty 2T L t47 >4 ?g
A @) =5 JOUP)" —ip @ = M 2 >g
‘ Al AL M NN M9
0> 29412\ 7 .
L 657 WWLTEKGCHASSES,COM.. MATHS By S KARIYA BHQPALPHONELQ7555 32900 000
3 L+ f1) 1+ £@) 3 1+ f(1) 1+ f@2)
1ik £+ 6R2) 1+ £(3) = fg: 1+ f@1) 1+ f2) 1+ Q)
@ bt f(2) 1F f3) 144 %’FJ 2- 1+fQ) 1+ f3) 1+ f4 \iﬁ%
T =K(1-e)? (1- B)2 (a—B)? then K is =K(1-a)? (1-p)? (a—B)? g, @ K TR "‘/'

gl 3{ jM— (0 14 £ ?1; <K (1 = 3 598"
440D $()-4G) 4] 5 .
Begd + 4D ~{(u) ) % b s it
/ |54 L)) =
; | “ 3) ap ‘6 + 2 b
g \ ) 1 | @ 519 ' %z
" \6 Y| o o 7
3+ ;m? - p g SUXE 2 S0 2 Floled fust
/ R M s el L
66. If A is an 3 X3 non - singular matrix such | 66. qﬁAWQﬂTE&xBWﬁq
that AA'=A'A and B=A" LA, then BB’ AA'=A’'ATIMB=A"T1TA’ % a‘rBB'arrar{
N equals : < N‘\‘M‘ " /YA T: 5‘2 L{?\
(e B 97 11" Ale 4 iy BTt Z\SA% g; \t‘;
@) B H ‘\,Au” 2 @7 Woes = Tndl
= (3) I1+B A\A’i\ AA['\A‘AA = ‘%PV (3) 1+B OB/L‘, Sl //C;
_7@ I > BA @) 1 25
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If the coefficients of x3 and x% in the

67. 67. AR (1+ax+bx?) (1-2x)18 & x &t wdl o
expansion of (1+ax+bx?) (1-2x)18 in TR H 23 991 x4, 1 3 01 I €,  (a, b)
powers of x are both z'éfo};@T(e}, b) is T
equal to : 18
| 272 S 2

. 27
1 |14 —3‘] 1 |14, T]
, 272 272
@ 16, —3—] (2) 16, ?]
11
251 o _ %‘O 21 —41p T
oI zﬁ By ® o 51757 WAL
{ ; o
251 251 -
14, == g |14, —} >
) [+ WA 1 3 G
o’ [’Hﬂe i t (i) o %
TEKOCLASSES.COM® MATHS BY SUHJA_C KARIYA BHOPAL PHONE (0755) 32 00 000
687 If (10)°+2(11)! (10)8+3(11)2 (10)7+ R | 68. & (10)°+2(11)! (10)8+3(11)2 (10)7 +
+10 (11) =k (10)%, then k is equal to : +10 (11)°=k (10)° §, T k SRR ¥ :
100 1) 100
@ 1 o 1172, 3 n o
) 110 C@9+ ?—C'D '(10)8 ) 11o£ = )((
@ 2 TB)%gt ; ® TS 12 ) i
— O 0 -
@ I e @ ﬂm@ 1 /O
100 on 1] 008 Tl L]y~
=" o *Q ) & \o_ o M

69. Three positive numbers form an increasing | 69. ik W'{T@TQWW QE'T T g gfe
GP. IfthemlmermlnthlsGP is 39 TUIRR S i &9 STell @ A FT el
4 SaWE A, IBE T nanibers are I AR, ST, T 7 e T gai 4 F @ W ¥
7L. Then the common ratio of the G.P. is : 'T’ﬁ'ﬂ'{ ’3@ Wﬂﬁaﬂqﬁ T:
b4 ’ @, b, < i3 /8
A 245 LT ® 245 Gl sliae
: ! /
71"
()BT 3 %});Cf&c @ 2+43 0c et qQYac=o
4 3+.2 [éb";@m()’l’ 4 3+.42
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Y -
1T T T3
sin ( cos? x) sin (T cos? x) 1T
70. il_% 2 is equal to : | 70. ilﬂ) 5 FHAT : "‘) 0 ;7'%3
Gl Aencetn | A 2
1 - (1) 1 (2.
UL 7\ CgA . | 2,
2w Ax 1 @ -ﬂu%xfg&ﬁﬁm )
@ 3G A(A(1- 3 ® 3 7 |
4) 1 2 ol @) 1 . AR ™)
S g&t&g gt (AL
A~ (R — : ,. : 9
L G
71. If g is the inverse of a function f and | 71. Hﬁ'ngWW%Hmf’ (x)= :
f(x)= 1+ 257 then g’ (x) is equal to: g @ g’ (x) SR ?: |
ffﬂ) A+ () l
o o TS 1 'S
[+
(1 g4 {g(x)} 9({( ™14 {g(x)} ’fb\) Q %)
; Aty
@ 1P g - ] @ 1+{g@)
(3) 1+x° _,;2“/‘ (3) 1+x° n) =
Jod ALY &’}Q )=
(@) 5xt X (4) 5x @(o&) ) 2 |
9 G M
}/ WIVNLTEK QGLASSES GExiia BIA S BY ShHAS KARIYA BROPARIPHONE 10 755132861006 - % sﬁ
[0, 1] satisfying f(0) =2 =g(1), 3(0)=0 and FO)=2=¢(1), g(0)=0 3R f(1)=6 BT FI=
f(@1)=6, then for some ce]O 1[ : FA &, @ fHet cel0, 1] & T - Lx
SN (U 2
O FO=g J;@ F0 O FO=5© § fou - &
gl
0= @ f'©)=28'0) lgé%@:
8'(0) (1)~}o 1 @)  2f'(c)=g'(0)
,«W// K, e (©=38
2f"(c) =3g'(c) 1-0 ) 2f'(9)=3g'(c)

>
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73. If x=—1 and x=2 are extreme points of | 73. dfg x=—1qA x=2,
fix)=a log |x|+ Bx2+x then : fix) = o log |x| + Bx2 + x & AT B, M

\}J)/a=2,B=—% ‘{:Y(M (1) a=2,B=—-%
AU |20
N

i —2piiso 1
o &N () a=-6B= ZQoUrlﬁ Y (B) a=-6p=3

—b~ -6, =~ (4) a=-6p=-7
(f%/‘“(%& HYpti=0

N
74. The integral f[l + x - ;—]e *dx is

- so i -y rER 9
2 1) @+1) ex+§ e

Ny Xy 8
UL?'-:\%WQ (&) == e x +(;1+‘> ¢ [[, 1 )
.‘l
Aé\‘e . &k(l a e (1>
({of o (B) (x-1) e *+c

YN [’)Lvl Y
x _1_ e = A £
f/“(xe+x+c Ao

pgitiuf
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75. The integral

f\/l + 4 sin? E - 431n2 dx equals :

1) 43 — (\ "VLSW 1)

,(4@4-_“2%)“)

B) w—4 B) m-4
A Lo
(4) 2—“-4—4J{BT o@h F\“B (4) 2T _ 443
3 - 3
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76. The area of the region described by

={(x, y) : ¥*+y2 < 1 and y% = T=2a}is:

LT 2
@® 5 3
T 2
_+_
(2) 5 *3
’Mﬂ+é
23
e
@ 555

-

N & L,
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Let the population of rabbits surviving at

i/

a time t be governed by the differential

dp(t) _
3 ()—200

If p(O) 100, then p(t) equals

equation

Lpy—o

s

Ly - qny () 600500 et/2 i

(2) 400-300 e-t/2

—

P41

(4) 300-200 e—t/2

f'b/
BmfpteD) = é+c
et PS be the median of the trlargle with

vertices P(2, 2), Q(6,—1) and R(7 3). The
equation of theLHrfI;a\ssmg through

(1 —1) and parallel to PS i 1s )
(1) 4x+7y+3=0 >
2x—9y—11=0 H/'F@

2
N 249

3) 4x—7y—11=0nzb 9 (2
M({zx+9y+7=o

76.

T

Aun(p oyt =L

78.

A={x, y): 2+ <17W P <1-x %

BN U &5 T &% ©
3
T4 ] =1
a s O~ WS
2) g % SJ »x gn
@ 7+¥5% @—f-z%o%
e S W%db
Whizgrs ~2t%\°
KARIYA BHOP@HQ\I{ (675@;%/205 000 "
WWWtwﬁﬁamﬁW
ATk FHIHLO dp(t) = —p(t)-_z()()g'm
IRRIECES 5(0) A

afe p(0) =100 B, & p(t) TR 2 ?
(1)
(2)
(3)
4)

600 — 500 et/2
400—300 e~ t/2
400 —-300 et/2

300—200 e—t/2

e P”"“
200 4 6D - Bw

A PS T s &1 wiferem € foas sid
P2, 2), Q(6,-1) TN R(7, 3) &1 (1, —1) @
BT M aTelt ¥, GﬁPséswm%w
TR §

1)
()
(3)
4)

1/—

4x+7y+3=0

2x -9y —-11=0

4x—-7y—11=0
(s

2x+9y+7=0

ey,
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79. Leta, b, c and d be non-zero numbers. If
the point of intersection of the lines
4ax+2ay+c=0 and 5bx+2by+d=0 lies

inthe fourth quadrant and is equi istant

from the two axes then : LN A

prE e e
i 3be ~2ad0 i

g';'
(2) 3bc+2ad=0 ( ?

() 2bc—3ad=0 AQak-2aktc=0
o GhK ~2bKAd =0

(4) 2bc+3ad=
2ozt
L g = d

drawn from the centre of the ellipse

x2+3y%>=6 on any tangent to it is :
Y @ HyR=e 22 Y o\
LT
@ 2+yP=62-2%7, X 3
®) 2-yR=62+22 {=Hh
ey
@ @2-y)?=6x>-2y%

TR AR ASSES COM

SSES.COM MATHS BY SUHAG

81. Let C be the circle with centre at (1, 1) and
radius=1. If T is the circle centred at
(0, y), passing through origin and touching
the circle C externally, then the radius of
T is equal to :

it 1 St H—+3
2 gy Y oyy = 4
l
/(2/4 , AT
;%T‘#‘fj,

K@??,IOLKO\” ke 2al,~ St 2D

/8(’./ The locus ng the foot of perpendicular

79,

80.

T a, b, ¢ 79T d YR FeATd ¥ | A X
4ax +2ay+c=0 qAl 5bx +2by+d=0 =T
yfreg foig <8 =qafer & & e S orell @
AT EPN

(1) 3bc—2ad=0.")
(2) 3bc+2ad=0) = @_ :-/é/_

9 i gomeesl X y3
(3) 2bc—3ad=0 W 13Y; Ak Y
(4) 2bc+3ad=0 %y LL D/’,«,C

- T

Yi
S 22+ 3y2 =6 F Hg 4§ 3HHT foRHl
i@m@%ma’a'&?maﬁrﬁgw%:

/1

=
1) (x2+y2)2=6x42+2y2 h/(’:, ﬁh
@ @+=e2-22 & g
(3) (P-y?)P=6x2+2y° 1\1(2
@ e-pr-ed-mpT

~|
KARIYA BHOP(\% PHbNE (0755) 32 00 000
81.

M C TF I9 ¢ fo@eR &g (1, 1) | 8 e
e =1%1 9 T (0, y) I 94 & S qo
foig & &1 F W ¢ 9 99 C FI 9 E9
o9t A ¥, AT T T SR R

@ G
1 o e
® 3 w4 %y,
® 5 ;&,
\/3 QK\Q”{?%\
B F

(4)

I\)Ia
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82. The slope of the line touching both the | 82. TEeHl 12 =4x T 2= —32y T w1 wE

parabolas y?=4x and x2= 32y is : A A T T FeO
. | . yf; WM A+ /\\7)/]
o) SR T
@ iz /y},g, s
ALY

”_3z(mx41 mn
)

2
2 3

—~

N

N—"
[6V)

2 =32 (w2 mr”

A

1
V) o yy\,n?'_l_’g’Zm’LK +%9 2

9
= % 252 il $2Hm =D

N |

4)
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83. The image of the line 83. 9HAA 2x—y+z+3=0
X=Jd - y=3  z-4 Ealooy=8 " med .
3 7 —5 inthe plane 3 ] Sy % gfafse aret
2x—y+2z+3=0 is the line : ("_) LIV] e
x—3_y»+5__z—211,w5 V) x~3 y+b T z=?
L Ly -5 - 3 1 ~45
__I_g o, Lfal—‘; = -2
e 3’ +5M§ > "Wﬂd) 3 +5 2
- =y =Z— >>>> ; i =y .——‘Z—
@) =iy 5 L;ﬁ'fé"w @) B 5
o DR SRS L G P N
i ] § ‘&’%g {.
3 xt 3T g bl zE2 : 3 x43 y-—5 izag
) 3 1 0 ) & 1 =3
= 2_ g il A [/’JJFL'
3 i
x+3 y—-5 _ z+4+2 X3 y—5Tz+2 v A
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84. The angle between the lines whose | 84. & Y@, faas few -1, H‘FI"(%'{UTT
" direction cosines satisfy the equations 1+ m+n=07"2=m2+n2 = GTE oGRS
f I+m+n=0and 12=_m2+n7—is: F A= F ARG
3 limivzo o /(‘LOW’“}‘V’:D
KL 'S ) ® 7 : 3
= ’(/« 1 A;A o X + D ) m e 2
™ g "IT
@ 3 mn’ F2am- =T @ 5 ___L ol
/2 ™ N ~ D ( ‘M\" O
Tt / N~ l)/( ™
\/6 Y q(} m=70 3) 3 ':\\ D/ O 0
E' = ( L=n* \ e
X 4 EV(JY)“O 4 L ')G"m __y‘)‘v:.t,)
an s g fem =l Oy o faneo W T bt
J\\\ A~ v iy L 1
2
A WQ@O&NSC oW MATHS BHSUHAG KARYA BROPALRHONE (075832 0 @ %A
equal to : ) T L7 = 4 .’
7\ C TR s L
S UK ' — = " T —
T Sk Rt I e
(3) 2 yp L y -3 2 | - |
L’iJ P @y 1 ml.p
(4) s ( G 4 3 o
axb- ([(brQ). (&
Arb. [ e 5 en9- @ M
86. Let A and B be two events such that 6. HIEAT A dYT B 1 QH'T ‘ET?F(TE g f=
s 1 1 1 E:
P(AUB) = T P(ANB) = - and P(AUB) = ol P(ANB) = T
P(A) = %, where A stands for the P(A) = l 3 wafh A S A % T B
complement of the event A. Then the <9It T ?ﬁ AL A Tl
events A and B are : 'L M\) "N (v
(1) independent but not equally likely. (1) F&aA ¥ g gHETEl T 2 I% g 3
(2) independent and equally likely. (2) EE § a1 GHEETE ¢ | ZMX (o) +
M
(3) utually exclusive and independent. (5} NI SToaS doT T ¢ |
J(/:.:ually likely but not independent. 4) FEFETE! § T WS T oo <h K
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87. The variance of f1rst 50 even natural 87 14%@’!“[501473{ UTehd AT TE ®
numbe}s is : (@
(é (o D) |
(1) 437 3
x & O
437 437 &\@
@ 5 @ 5 | \
%) , W@
@ 2 2,0 6,& |05y B %
220 32 (xnA") s O '\é>
(4) 833 @&ﬁ& 4) 833 26 Y - «
L) u(4
u9? 1'84%; o] 8 ¢ @ = .
.———/_—_‘ -
E0% < 3o A —Pe2 ! )
. 2 X1o{ X
88. Let fix(x)= e (sinkx + coskx) where | 88. HMT fx(x) = i (smkx + cos x) ?, el
x e Rand k=1. Then f,(x) —f,(x) equals : x e RAMK=1 T, @ fy(x) — fy(x) TR T :
WWW.TEKOCLASSE%CE : RY-SUHAG KARIYA BHOPAL PHONE (0755) 32 00 000
1 w | A" lerp
) 2R () 1y = 1l — I
[W 7 T o
o T~ A |02 X &b
& 1 A
// > @ S
o 2% 3)
L 13 17 . )
) + 437
RRGITCLCIS I SR P
Qﬁm@ T XL K8l (@n-D, 9y —1=hy
e 1 = Z‘W
@ 3 @ 3
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A bird is sitting on the top of a vertical :‘

89. TH Ual 20 W. I9 TH FeAR WY F TR
pole 20 m high and its elevation from a T ST § qAT TR 97 & T foig O 9 oM
point O on the ground is 45°. It flies off H45° T I8 Ut O F W &fast fewn & s
horizontally straight away from the T TF 9FS F 15, O W uafht A1 ST H0
point O. After one second, the elevation ¥ HL3°E @ el adl (7. gfa 9. #) q&ﬁ
of the bird from O is reduced to 30°. Then H AT
the speed (in m/s) of the bird is : "
1) 2042 o w2 \
g e EEA PN
e A —
(3) 40(v2 - 1) va v~ ®) 40(v2 - 1) STy
(4) 40(vB - V2) L (4) 40(vV3 - V2) }_Q,., ll.
IR
90. The statement ~(p <> ~q) is : 90. T ~(p > ~q) ® : GL(LO ﬁ/\
(1) a tautology F ’\{T e ~ (1) T (A (tautology) T
(2) a'fallacy g | E :f{ (2)  TH B9 (fallacy)
)" equivalent to?n( q}f f 3) peoq®THA ,
T | 20 w s
.}}/ equivalent to ~p <> q F 4) ~peq F g
3 \ANMEKOMMATH%’BY SUHAG |KARIYA BHOPAL PHONE (0755) 32 00 000
F -o0o- T -00o0-
T SPACE FOR ROUGH WORK / % @14 & g s
/Y
L s, 00 o B 2l
v (9~Y9
LAV (2~
x5 - : 9 4
Y zt} Z“I%D ! & - /
_ B 4uf i Ll /
lf& ¥ % e I SRR S L
2 f =Lt el 2 \
g ¥ S AT |
U = (+% gacc )
=0 |
E/Page 38 7()/ 4L *E/ b/ﬁz\ ,T
RN 7.k LT
et el Al r
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Read the following instructions carefully :

Frotferfaa FEST <217 6 T -
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1. The candidates should fill in the required particulars
on the Test Booklet and Answer Sheet (Side-1) with
Blue/Black Ball Point Pen.

2. For writing/marking particulars on Side-2 of the
Answer Sheet, use Blue/Black Ball Point Pen only.

3. The candidates should not write their Roll Numbers
anywhere else (except in the specified space) on the
Test Booklet/ Answer Sheet.

4. Out of the four options given for each question, only
one-option is the correct answer.

5. For each incorrect response, one-fourth (a) of the total
marks allotted to the question would be deducted from
the total score. No deduction from the total score,
however, will be made if no response is indicated for
an item in the Answer Sheet.

6. Handle the Test Booklet and Answer Sheet with care,
s under no circumstances (except for discrepancy in
Test Booklet Code and Answer Sheet Code), another set
will be provided.

7 The candidates are not allowed to do any rough work
or writing work on the Answer Sheet. All calculations/
writing work are to be done in the space provided for
this purpose in the Test Booklet itself, marked “Space
for Rough Work’. This space is given at the bottom of
each page and in one page (Page 39) at the end of the
booklet.

8. On completion of the test, the candidates must hand

over the Answer Sheet to the Invigilator on duty in the

* Room/Hall. However, the candidates are allowed to
take away this Test Booklet with them.

9. Each candidate must show on demand his /her Admit
Card to the Invigilator.

10. No candidate, without special permission of the

seat.

11. The candidates should not leave the Examination Hall
without handing over their Answer Sheet to the
Invigilator on duty and sign the Attendance Sheet
again. Cases where a candidate has not signed the
Attendance Sheet a second time will be deemed not to
have handed over the Answer Sheet and dealt with as
an unfair means case. The candidates are also required
to put their left hand THUMB impression in the space
provided in the Attendance Sheet.

12. Use of Electronic/Manual Calculator and any
Electronic Item like mobile phone, pager etc. is
prohibited.

13. The candidates are governed by all Rules and
Regulations of the JAB/ Board with regard to their
conduct in the Examination Hall. All cases of unfair
means will be dealt with as per Rules and Regulations
of the JAB/Board.

14. No part of the Test Booklet and Answer Sheet shall be
detached under any circumstances.

15. Candidates are not allowed to carry any textual
material, printed or written, bits of papers, pager,

except the Admit Card inside the examination

Superintendent or Invigilator, should leave his/her |

mobile phone, electronic device or any other material |-
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